82

—-—’—

{2,8)€R" and (1,-37)¢R?

ace Nectofrs,

[RZ

I

¥ 1 // y :(x,«d,>

- 4

'-\7”= )Lz+"6rz is the maani'l'uc\e
0“ P 'l"\e le\ns‘l’\‘l OS:‘ v

N
Tt '\',3 :<x,'},z>, +hen ll;,’”=\j;z+}z+zzl

V is a unit vector o INl=1

Imi:or‘t'a\(ﬂ‘ vectors .

In RZ: 8:(0,0‘), ?:<I,O§' j:(o,\),
3.2 ==

In R’ 020,00y, i2<1,0,0),

7= <000, kR=<o,01)

To add vectors, odd their coordinotes.

To scae a vector by a¢ R,
mu\'\'\‘:\)/ each coordinate \o)/ a.




par

_y
2
2V is in the same divection as Y

and has 3 Times the masn'\'l'ude,.
is in the oﬂaosH-e direction og
and has % the \Ma3ni+u<le.

-~
AR
2
-
N

- n =, = -\7
:[.'P VGK (an& \I#O} +hen <

is the umit Vector in direction of 'j

)Rz
RN
e v
LNl
s
-
o I m‘_\j IV-WIl is the
v N distance between
N VY] vV and W
v W

Tn R? a?+b"f = a,b>

In R a?+b“3'+c-|:=<a,b,c>




